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First Semester B.E./B.Tech. Degree Suppla@ary Examination,
June/July 2024

Mathematics - | for@ Stream

Time: 3 hrs. .: l, Max. Marks: 100
L ]
Note: 1. Answer any FIVE full questions, g ONE full question fro ch module.
2. VTU Formula Hand Book is
3. M:Marks, L: Bloom’s level , G: Colirse outcomes.
F

Q.1 | a. With usual notations, pmve% b= raF. -~

otlule - 1 A M, L C
@ do Q 6 | L2 | COI

P ¢
b. Show that the curvcs@l +sin0) and r = b(1 g}intcrscct cachother | 7 | L2 | COl

orthogonally.

r4
;b 7 L3 |CO1
¢. Find the raa%of curvature at the @ [3?9 %J for the curve
' 4

~

o ,

Q.2 | a.  With usual notations prove that p = T4yy \(:b' : |
" Y S ’

~ ééi @ 8 [L2[cotl

b. Find the pedal equat:on the curve : r" —Jg 7 | L1 | COl

[ ¢ Using modern matical tool, ‘a.ﬁgranﬁmde IQM of the curve | 5 | L1 | CO5

r-2[c0520| “% ; ' 1
; ? £ I |
; . AN dule-z ‘\ |
Q3 a Obu@c Maclaurin’s expandign of Iog(l+e‘)u‘b&51c term containing x*. | 6 | L2 | CO1
[ . .
i b. Af u= f‘[2x 3y,3y — 4% 42 2x] then ﬁrgyﬂueof 7 |L1|cCO1
| PR ] ]
R @)
| | 2 ax 36}' ’
| A
| c. Find anxmum and waginimum  value of the function, |7 | L1 | COIl

f(x,y)‘é xy! ~15x" - 15y™ 72x.

> OR
!
Q4 |s. ! Evaluste um[“ +bpet +d J 7|12 cot
a0 : 4
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BMATSI101

If u = x* - ¥, when x=c'cost , y= csm(b&mw that |8 | L2 | COI
LTS [coq“!-qm 2!]
at

Using modern mathematical tool write a progr de to show that |5 | L3 | COS
u,+u, =0, givenu= c[\:cosy ysmy] Q

*
Module - e
Sotve LY _ 6% ::\ 6 L3 |CO2
olve: 42 =
dx x v “~

V% ‘

2
b. Find the orthogonal trajecttg f Jx L —=1 @c Aisalg L1l coz
N

parameter. (‘»
¢

P
c SoIvc:x%“xyp-ﬁ@ ‘é 7 | L3 [ CO2
|

AL

7
OR 2
a. Solve: (y" + +(xy3 +2y‘ —4;&1@ 6 | L2 [COZ

b. Solve wcrcmial equation LE + R =200sin 300t when L = 0.05 and
R 0 dnd find the value of i@cnl I at any time t itially there is
no current in the circuit. What does i1 approach a ong time.
¢ Find the general and s@;{)luuon of (a? - avxyp +b? - @ 7 L2 lcoz
I _ | S

Module — m *

7 [L3 | CO2

&
. (i) Find @amder when 417 Wd by 3., 6 | L2 CO3
(i) Findt digit in 77%. %‘ .

b. Find lh:s&olution of the linear conb%ce 18x =30( d4Q}_ 7 |L2 | CO3
c. Usin@'ﬁA algorithm find puljlic key and privatd&?{h respectto p=3, (7 | L3 | CO3

",l | and m= 3]
ow w that 8% — 1 jedifisible by 3 31 using Peemet to little theorem. | 6 | L2 | CO3
Soive the sy of linear co ence’s using CRT x=2(mod3), |7 |L3 | CO3
x = 3(mod £ 2(mod7). ‘§‘
c. (1) Fm%: remainder when#349x 74 x 36 is divided by 3. 7 |L2 | CO3
(i))  Find the roots of X -3 =0(mod5)
- - ~ Ag*  Module-5 o - -
’ -2 -1 -3 -~
: 2 3
a. Find the rank matrix . 6 | L2 | CO4
a~ I 0 1 1
p 0 1 | I
;\ ;y 20f3
N
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b. Test for consistency and solve Sx+3y+7z=4, IxfaY+27-9.]7 | 13| CO4
TX+2y+10z=5 \'
¢. Find the largest Eigen valuc and the corrcqumg Eigen vector, |7 | L1 | CO4
6 -2 2 Q *
A=|-2 3 -1| with initial vector ﬁ) I 1 1] carry out
L )
2 -1 3 Cb'
5 iterations. Q ‘é
¢
Q.10 | a. Solve the system of equations &G s Seidal method 83x 4z=95,| 8 CO3
Tx+52y+13z=104, 3x + = 71. Carry out three itgfations.
b. Solve the system of equations h¥ using Gauss-Jordan method: 7 | L3 | CO4
x+2y+z=8 2x 4z=20, 4x+3y+2z=
¢. Using modern math jeal tool, write a prograpwegde to find the largest | 5 | L3 | CO5
Pl 3
. ’
eigen value o =Vl 5 1
: ¢ 311
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Sccond Semester B.E./B.Tech. Degree Supplementary Examination,

June/July 2024
Mathematics - Il for CSE Stream

BMATS201

Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. VTU Formula Hand Book is permitted.
3 M : Marks, L: Bloom's level , C: Course outcomes.

- Module—1  Im[L][ C
| qr 7 [ L2 | Cor |
Q.1 ‘ a. lvaluate !I I(x+y+z)dydx dz. g
- |7 ]ufcor
b. Evaluate I J(x" +y*)dydx by changing the order of integration.
¢. Show that B(m.n)~—-——~l (m)(n) , 6 L2} col
I NMm+n)
OR
1 40" E 7 L3 CO]
Q2 | a Evaluatej J'(x’ +y2)dydx by changing into polar co-ordinates.
0 ]
b. Find the area between the parabolas x*=y and y’=x using double | 7 | L3 | COIl
integration.. - AN P ) _
¢. Using mathematical number’s, write a code to find the area of an ellipse | 6 | L3 | CO5
J x_ + }T =1 bydouble integration.
| a- b° ' '
- Module - 2
Q.3 |a. Find the directional derivative of ¢=4xz'-3x’y’z at (2, -1, 2) in the 7 | L2 | CO2
direction of the vector 2i —.3j+ 6k .
b. .If E=V(x“+y’+z’—-3iﬂ) find div F and "cu_rli-:. 7|12 €02
c. | Prove that spherical co-ordinate system is orthogonal. 6 | L3 | CO2
OR
Q.4 | a. Find the angle betwen the normals to the surface xy=z" at the points | 7 | L2 | CO2
(4,1,2)and (3, 3, -3). _
b. If _I-:=(x+-'y+az)f+(bx+2y—z)}+(x+cy+2z)ﬁ, find a, b, ¢ such that 7112 COz
curlE=0_. £ - - o
c. Using mathematical tool write a code to find the curl of F=x'i+ y’]-b z'k. § | L3]COS
Module -3
7 | L2 | CO3
. s I
Q.5 | a. Prove that the set w = l A_ Jy+4z=0 is a subspace of V3(R).

l1of3
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| , 4 7 ‘ s 7 [L2]CO3
E [ b. Express the matrix M = 1 9 as a lincar combination of the matrices,
i [ 12 (.
‘ P = ¥ = i R =
L ke e
i c¢. Find the basis and dimension oufTsubspnce spanned by the vectors, | 6 | L3 | CO3
| 023 00-34)-10.-2)) of VaR).
S - [ O . S — — -
Q.6 | a. Find the matrix of linear transformation, T.R* — R* defined by, 7 LZTi 03
T(x,y) = (2x + 3y, 4x - Sy) with respect to the basis, B, ={(1,2).(2,9)} of ’l
R,
b. The transformation G :R'—5R? is defined as G(x,y.z)=(x+2y-7, y;z, 7 L2 CO3
. x+2y-27). Find the basis and dimension of Im(G).
: s : 6 | L3 | CO3
e IPRY =+ 2, g0 =3t-2, h(t)=t" —2t-3 and (f.g)= [F(Dg(t)dt, find
0
(i) (f.g) (i) (f,h) (iii) ||f] and |g|
Module - 4
Q.7 |a. Find the real root of the equation x' —2x—5=0. correct to three decimal | 7 | L2 | CO4
places using Regula-Falsi method. Carry out three iteration.
b. Using Newton's forward interpolation formula find y at x = 5 from the | 7 | L2 | CO4
following table: .
x 0 [2 ][4 [6 [8 [10
: 0 4 |56 |204 496|980
Lodx th _ 6 | L3 | CO4
c. Evaluate Jl e by using Simpson’s 3 rule taking six equal intervals.
o1+ x”
OR -
Q8 |a. Find the real root of the equation, xe*=2=0, correct to three decimal | 7 | L2 | CO4
places using Newton-Raphson method. Carry out three iterations.
b. Using Lagrange’s interpolation formula.find f(4) given, 7 | L2 | CO4
x: [0 |2]3 |6 o
fix):|-4{2|14]158
. y ey 6 | L3 | CO4
¢. Evaluate -[I ~——dx by trapezoidal rule considering six equal intervals.
pltX Yu
: Module -5
Q.9 |a. ' Employ Taylor's series method to obtain approximate value of yatx=0.1 | 7 | L2 | CO4
. d %
for the differential equation, a-¥~=2y+ 3e*, y(0)=0
- y X Ny
b. Apply Runge-Kutta method of 4™ order to find an approximate value of yat | 7 | L2 | CO4
x =02, given that & =Y y0)=1.
dx y+x
'Y : d 2 . 6 | L3 | CO5
c. Apply Milne’s method to find y(1.4) given E—i—zx' +% and the following
data :

y(1)=2,y(1.1)=22156, y(1.2) = 24649, y(1.3)=2.7514.

20f3
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OR _ ‘ :
| i | | |
Q.10 a. Using modified Euler’s method. find y(0.1) given dy x-y.v0) =17 L2 CO4

1

[ dx |
. Carry out 3 iterations. o e !
| > NETaN - . -

N I | | I
' b.  Using Runge-Kutta method of fourth order solve & L y(04) =1 at | 7 L2 CO4

X Xty [
| x=05 o o B R
“¢. Using mathematical tool, write a code to solve the differential equation 6 13 COS
1V =x" +y with v(0) =0, using Taylor’s series method at x =0 | : ‘ |
dx n

* ek kR

Jofl}
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Second Semester B.E/B.Tech. Degree Suppi,iinsbntary Examination,
June/July 2024
Introduction to Electronics,\{pgd Communication
Time: 3 hrs. .\; . 'iv[\ax Marks: 100

Note: 1. Answer any FIVE full questions, Jhosmg ONE full questm?l from each module.
2. M : Marks , L: Bloom’s level , RCourse outcomes.

ﬂ e )-"&_

dule - 1 ? M  L| C
1 | a. | What is a regulated power ? Draw the block d:aé?nm of DC power| 8 | L2 | COI1
supply and explain the indiyidual’blocks with principal components.
b. | Draw the circuit diagra é‘f%bllagc doublers and the Working principle. 6 | L2 | COl
c. | Mention the advantag%ir negative feedback hﬁmpllf ier circuits. With| 6 | L2 | CO1
relevant equations and diagram, explain the concept of negative feedback.
A OR A
2 | a. | With a neat circuit diagram and wavcforrg’explam the working of a full wave | 8 | L2 | CO1
bridge recuﬁg%L
b. | What is iplifier? Explain its types. 5§ | L2 | CO1
c. | What j volt ge regulator? Draw ll@;ﬁfcml diagram of vo’,&ge regulator and | 7 | L2 | COl
explairl?mg operation. ~
’ \{\Q A
g WModulc 2 % N
3 | a. | Draw the circuit diagrafima hﬁnﬁd input and oqtgyavavcform of the"’fhllowmg, 9 | L2|CO2
operational amplifier cireuits. ’
i) lefcrcntlatorf‘\ - ‘%;
1) Integrator % o -
1ii) Voltage fol“wcr Q\x :\*
b. | Write a note n'ideal characteristics of"an op- amp. ﬁt 6 | L2 | CO2
c. | What is itor? Mention th@dﬁﬁ:tlon of oscillatess. ~ 5 | L1]Co2
N OR ~
4 | a. | With circuit diagram, explain.the operation of a Wien bridge oscillator. 8 | L2 |CO2
b. | Explain the single state astable oscillator with circuit diagram. 8 | L1 |CO2
c. gﬁne the followmg@&atlonal amplifies.parameters and write their typical | 4 | L1 | CO2
values : J ’
1) Slew rate &
11) lnputoffsc(\qltage h:\’
~
£
odule -3
5 | a. | Implement full adder usimg, two half address and one or gate. Reduce the | 8 | L3 | CO3
equations for sum and ca%?
b. | Convent the following :” 6 [L2|CO3
1) (110.1101), = (?),
i) (847.951)[0\&%
lll) (CADBF)[Q,z (?)m
c. | Write the M—step procedure to design a combinational circuit. 6 [L1|CO3
% 10f2
& ’
N
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OR
6 State and prove De Morgan's theorem with its truth table for 2 anblcs L1 | CO3
1) Subtract using (r - 1)’s complement method : @ L3 | CO3
a) 445610 34234y, Cb
i) Subtract using r's complement method
a)1010100,2) — 1000100,). b
L‘v’
Using basic Boolean theorems, prove, s L3 | CO3
DX+y)(x+2z)=x+yz NS A
W) Xy+XzZ+yz=xz+yz. \Q *‘:“
%/ .
Module - 4 AN
7 What is an embedded syslemgiQL erentiate between emqgﬁdded system and L2 | CO4
general purpose computing S}MGP'L ,
¢ .
- %
Discuss the typical emb system elements. ,,; y L2 | CO4
“~
Write a note on clasfPQc'ation of embedded systems. Ll [ Cu4
AL OR A_N
8 List the comparison between mlcroprocessa? and microcontroller. L1 | CO4
Write sgﬁl rotes on 7 — segment Lﬁymsplay & L2 | CO4
——
Write a note on transducers. Explam one type of s @a actuator Kh its L2 | CO4
operation.
™~ ~
% Module - § FS, 2
9 List out the advantages of digital commumc&’ﬁbn over analog cﬁglmumcatlon L1 | CO5
9
Brief about mod®m ¢ communication s’ya%é'ﬁ{ w:th its block (ﬁram L2 | CO5
'
Explain w\ﬁh\a neat diagram, Th%ncept of radlo"&a'%e propagation and its L2 [ CNS
dlﬂ'eren@es ‘\, ) A~y
&
{C a R OR /\
10 | a. | Describe the classi ahd‘ﬁ of RF (tho Frequency) spectrum with L2 | CO5
“applications in co ation systems
Describe abou{ﬁmﬁ) signal transmn;\:ﬁ and multiple access techniques. L2 | CO5
Explain the following with the holp of waveforms : L2 | CO5
i) ASK
i) FSK -~
iii) BPSK. f‘
X
* ok ok Kk ok
™~
~
4
4,__(\ 20f2
31
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Second Semester B.E./B.Tech. Degree Su

CBGSISGHENE

June/July 2

24
Introduction to Inter -Q:f Things (loT)

L

CK205H/BETCKH205

_Qnentary Examination,

Time: 3 hrs. '\, ! ‘,464:1:(. Marks: 100
Note: 1. Answer any FIVE full questions, %s?ng ONE full question fromeach module.
2. M : Marks , L: Bloom’s l""”f‘% ourse ontcomes. ~
- VY 4
Modale - 1 N ML C
Q.1 |a. Define IoT. Explain the characteristics of loT. ™ 05| L2 | CO1
b. Differentiate between poimt toypoint and point to multjpomt connection | 05 | L2 | CO1
type. ~ P
c. _Explain OSI model witli'neat block diagram. A Y 10| L2 | CO1
D OR ™
Q2 |a. V:"ith a neat di{%ﬁ. explain the interdependency technology for IoT | 10 | L2 | CO1
| planes.
b. Differentiate b?men 10T and M2M. ,;x" 05| L1 | CO1
¢. Explain @/ﬁs networking components 6floT. 05| L2 | CO1
Module - 2
Q.3 | a. Outline the basic differences between transducers sensors actuators 05| L2 | CO2
b. Listand explain characteristics oFsensor. 05| L1 | CO2
c. _List and explain the Actuators._ - ) 10| L2 | CO2
OR < :
Q.4 |a. Explain sensorial deviatién"$with respect to anfloBand digital sensoms 10| L2 [ CO2
b. Differentiate basic diffeggfices between sensgrs and actuators. : 05| L1 | CO2
c. Outline a simple actuation mechanism. o L, 05| L1 | CO2
AL Module — AN
Q.5 | a. Elucidate the gg rent data formats fou%'&m 10T network. . "= 10| L2 | CO3
b. How collaborative processing is diffexent from remote processing? 10| L2 | CO3
- ——
Q.6 |a. ET];)]ai.lﬁt_bj' device dcsign_a_nd%,lgction considerati ’t-;i" 10 [ L2 | CO3
b. Wha.{,:ig*-process off-loading? Infer the different data.off-loading method. 10 | L2 | CO3
R % “"Module-4
Q.7 | a. (Define cloud computing)Déscribe the advantages of cloud computing, 10 [ L2 | CO4
l;,:t ith a neat diagram, explain architecture ai;_s?i’:;or cloud platform. 10 [ L2 | CO4
~ & OR ™
Q.8 |a. Define Service %rAgreemenl(S_LA)f Explain its importance and metrics | 10 | L2 | CO4
used while defiming SLA. AN
b. With a neat am, explain the omponents of an agriculture loT. 10| L2 | CO4
' % Module -5
Q.9 | a. Explain the architecture oqg?érithcare IoT. 10 | L2 | COS
b. List and brief the advaqg;%e of vehicular [oT. 10| LL | CO5
y OR
Q.10 [ a. _ List the applications of loT in transportation. |10 L1 [COS
b. Define machinq,(lbg’ming. List out the advantages of machine learning with | 10 | L2 | CO5
m. : B i
| | diagram. " e -
&'
&
¥ ]
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estion Paper Version : A
USN %}u

First/Second Semester B.E./B.Tech. Degfee Supplementary. Examination,

June/J 24 \
Professional Writing Skills in English
Vo 4 , ¢
Time: 1 hrs.] "» \ [Max. Marks: 50
Py,
INSTRu‘q&)Ns TO THE CAr:ﬂJl DATES

? :

1. Answer all the fifty }ns. each question ca_r:és%me mark.

2. Use only Black b oint pen for writing / dzy?éning the circles.

3. For each qucsﬁhg, after selecting you&ﬁ\swcr, darken the appropriate circle
correspon@’to the same question nitmber on the OMR sheet.

4. Darkeningwo circles for the sargféquf:stion makes the ,a_pyswer invalid.

5. Damaging/overwriting, usingrﬁvhitcners on :Q%MR sheets are strictly

¢

prohibited. A A/\ A

1. Identify the sentence wiu@;:arts of speech errors ¥ Py
a) She plays the piano very well ﬁ%t’:y are listening tgmusic
c) He are playing i&?]{ e is going t(}(ﬁi;: movies.
2, Which scmenca@ﬂmins a parts of s %e:ror? ~
a) He are a good student. b) She sings beautifully.
c) We will€at pizza for dinner. m d) They laying soccer outside.
3. In whla&ntence is the em %ns of speech? -~
a) She,is reading an inte b:ook. b).I cén swimming very well.
c)%ey are watching a %. d}He plays the guitar
¢ ™
4. %al is the term for a word tﬁ?fconnects words, phrases, or clauses?
a) Conjunction b) Preposition ~ ¢ ¢) Adverb d) Interjection
5. In the sent LQ] saw him mnn@down the street, “what is the function of the word
“running”?
a) Adjective b) Ad b c) Gerund d) Infinitive
6. What is the function ofﬁg}ﬂiciple in a sentence?
a) To modify a noun or pronoun b) To express an action
c) To function as beject of a verb d) To function as the object of a verb

7. Inthe scnlcncc;‘mc book on the table is mine,” what is the function of the phrase “on
the table”? ,

a) Adjecti b) Adverb
c) Prc@_ ional phrase d) Gerund phrase
| of 5
"4

A

‘__N
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8.  Which sentence has a grammatical error? ) \

a) He enjoy playing basketball. b) They Qymg to the beach.

¢) She have finished her homework. d) Wegi.lgoing to the park.
9. What s the grammatical mistake in the sentcncc@hc dog laying in the sun™?

a) Verb tense Subject-verb agreement 4\

¢) Verb form Qj ord choice ‘a :

~ :

10. What is the grammatical mistake in chtence: “The car is blue, and the truck is red

color™? (» &

a) Run-on sentence Q b) Comma splic

¢) Redundancy d) Fragment sﬁhcc

'

11.  Which sentence contains %fnmatical error? p,

a) The cat is sleeping o% ouch. b) She agg a'doctor.

¢) They is going to the park. d) I likeso sing.

¢

12. What is the gra | error in the scntcnce.‘egc don't have any money"?

a) Subject-ve agreement ronoun usage

¢) Tense copsistency &d) Sentence structure

N

13. Which éfthierfollowing sentences has‘\grammatical error?

a) Sh s beautifully. ,.‘:u b) We am o@to the park.

c¢) They are watching a movie. p d) He abaskctball every weekend.
14. Which sentence dcmonstra@&;orrect subject-vcrb?eement? “&

a) The dogs barks Ioudly&@w park. Thg'log bark Ioudly‘?f&e park.

¢) The dogs bark loudly jn the park. ' ¢ dog barks loudly in the park.
15. Which option degfonStrates correct subjectyerb agreemcnl‘.:&i

a) The team ar ing well this se :

b) The team is playing well this sea -’

¢) The team were playing well eason. {\,

d) Thc{n\?&n am playing well(% ason. &Y:A
16. ichvof the following s ch is in the present’perfect tense?

e will go to the storgv e is going to the store.
Q-); he went to the s%" She has gone to the store.

17. Whatis the future%e of the verb ‘:%»fim”"

18.

Igl

20.

\

¢) Swimming d) Will swim

a) Swim Q’ b) Swam

S
Which tcnst%ﬂsed to describe actions that are ongoing or happening at the moment?
a) Present simple (& b) Past simple

c¢) Present continuous -~ d) Past continuous

What is the past tense of the verb “to eat”?
a) Eating Ab) Eaten c) Ate d) Eat

In the scntcncef‘:navc lived here for ten years,” which tense is used for the verb “have
lived”? F

a) Presen ple b) Present perfect
c) Past &lp e d) Past perfect
20f5

’
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21.

22,

23.

24.

25.

26.

217.

28.

29.

30.

33.

34.

a) Runs

¢) She was studying when the phone ran;,

Which of the following refers to wo
a) Synonyms

b) Running

¢) Ra
L
Which of the following sentences is in the past %ous tense?
a) She has been studying all day.

b) Antonyms

What term describes words tha
sometimes different pronunci

a) Synonyms

a) Cub

Choose the co

Complete the analogy

]

Q%

What is the future tense of the verb “to run™? (ﬁ)’Q

BPWSK106/206

d) Will run

b) studied for the exam last night.

he will study tomorrow&

ave similar meanings? ~

tha
rd& c) Homonyms

lled the same but@p different meanings and

c) Homop{a!

to kitten as dog is to o™

uppy

a) Your going-fodove the party.

¢) Yourc

Choo
a)ltsa

c) Its raining heavily

Choose the correct colloc

'S

A

a) Make an appointment ™=,
c¢) Take an appointments

Identify the corren&%locatlon

a) Takea decision®
¢) Do a decjsion

Which
a) lhey

Gl%vse the correct contr‘;&ﬂn for
@Ve re

32. Whatis the contra

a)can't

love the party.

¢ correct usage: “lts” ve
utiful day outside.

s ™

~

’

c) Foa]

agc “Yours” versus “beﬁk\:

~d) Homophones

d) Homophones

d) Chick

™H) You're gomg to love the party.
d) You are going to love the party.

.

t's.

b) It's a be day outside.

d) It isP'\ heavily. &

san appointment.

Q

ve an appointment.
N 4&{*{
Q b) Make a decision

d) Give a%:igion

\ szg \
ction is cormrect y have”? AN
m c) lhg&B
“we \Vll]”“(\'

b) th

%(ve ve

a) Yesterday I went to st
¢) Yesterday I went to theStore.

Rearrange the wo

L4

written, different®authors.”

a) She enjoys re

b) She enjays
d) Shebgh

c) She en

&

ot

of “cannot”™?

b) couldn't
\) AN

Rearrange th\(v

store, the.”

IWC
4

c¢) can’ve

d) they’ll

d) we’ll

d) can’t’ve

ords to form a grammatically correct sentence™ “Yesterday, went, to, I,

b) Went I to the store yesterday.
d) I went to the store yesterday.

g many books by different authors written.
readings by many books written different authors.
eading many books written by different authors.

fferent enjoys readings many books written authors.

3of5

form a coherent sentence: “She books, enjoys, reading, many, by,



46.

47.

48.

49.

50.

Q‘S’ BPWSK106/206

Where is the error in the sentence: “Their going to |he omorrow.”

a) Their b) going ¢)tot d) tomorrow
Identify the error in the sentence: “The book i 19 on the table.”

a) The b) book mg d) on the table
Which option improves the sentence: “H@ good football.”

a) He plays well football. ) He plays football 200t

¢) He plays football well. ‘ d) He plays football goodly.

Choose the improved version of %élencc' “The weather, oo much hot today.”
a) The weather is very hot t b) The wealhe“?too hot today.

c) The weather is much hottoda¥. d) The weathér is hot too much today.
Which option corrects tence: “I am not feeli d today.”

a) [ am not feeling welltoday. b) I am not feeling goodly today.

c¢) I am not fceliR r today. me not feeling good today.
Choose the ¢ ted version of the sente He goes to gym regular.”

a) He goe regularly. , b)He goes to the gym regular.

c)Heg the gym regularly. & d) He goes to w regulars.
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35. Rearrange the words to form a grammatically correc (tlﬁce: “In, I, morning, the go,

always, for, a, run.” .

a) Always in the moming go I for a run.

b) In the moming always I go for a run. Q

¢) lalways go fora run in the morning. %, .

D R

d) In the always moming I go for a run. Q

O
36. Recarrange the words to form a C(&'cn sentence: “Hiking, in, we, cnjoyed, the,
L

mountains, beautiful, the.” ~
a) We enjoyed hiking in the mo %hc beautiful. /‘\v
b) In the mountains we enjoye g the beautiful. 4::“

c) We enjoyed the beautiful tholiatains in the hiking. 2
d) The beautiful mountai@ﬂhc hiking we cnjoyed.[&

37. Identify the error in thegtence: “The dog wagge tail excitedly.”

a) The dog c) wagged d)it's —
38. Whatis the activ%icc form of the senten {h}'he cake was baked by Sarah™?

a) Sarah ha mfd the cake. :b) Sarah had baked the cake.

c¢) Sarah e cake. + d) Sarah will bake the cake.

39. Whi tion correctly transformsathe sentence into pass@oice: “The teacher teaches
the students™? ~N
a) The teacher is teaching by thestudents. (\Q
b) The students are being talght by the teacher. (‘»
c) The teacher was teach?he students, s ‘3:‘
d) The students were tau’g by the teacher. % ’ ’
40. What is the rcporf&rspeech form of_ the direct speech: * aid, ‘I am lcaving for
London tonight ~
a) He said that be leaves for London% t. ’
i

s

b) He said that he left for Londmw ght. N
c)He s_a;@.tth t he leaves for tonight. %
d) He days that he left for L onight. ~ .
s
¢ ~
41. se the correct trans?%??tion of the scnlg'ﬂ'q; into reported speech: “She said, ‘I have

_ cke dy finished my work.” ‘,:;‘N

ﬁ) She said that sh@y finished her h?mcwork.
b) She says that sh already finished her homework.
¢) She said th has already finished'her homework.

d) She says& e had already finished her homework.
@
42. Identify the error in the s%&: “He don’t have enough money to buy a car.”

a) He b) don’t ¢) have d) enough
“~
43. Which part of the sentence contains the error: “The student’s scored high marks in the
exam.”
a) The ‘.:\\ b) student’s c) scored high marks  d) in the exam
44. Find the error in the sentence: “She sings beautiful.”
a) She K b) sings c) beautiful d) no error
~ 40f5
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E‘ementary Examination,

Time: 3 hrs. * ax. Marks: 100
Note: 1. Answer any FIVE full questions, Qsing ONE full question f@ads module.
2. M : Marks , L: Bloom’s level , (Wurse outcomes.
F
oddle -1 £ M| L C
Q.1 | a. Obtain the expression for e ensity using Einstcin@emcients of | 08 | L2 | COIl
absorption and emission. >
b. Define angle of acceptange! Explain types of optic ~fibres with neat ray | 07 | L2 | CO1
diagram and rcﬁactiv@ profile.
¢. Find the ratio of pop n of the two slates in e laser that produce | 05 | L3 | COl
light ofwavelen@veﬂzs A° at 27°C. .
A TR
Q.2 | a. Derive an gxpgession for numerical apermigc?f an optical fibre in terms of | 08 L2 | COIl
fraction ﬂl “~
b. What ’45 tive medium? E:‘c(p{i'n' construction and working of | 07 | L2 | COl
semiéondyrctor laser. o
c.  Fof®30 cm long fiber attenuation 0.8 dB/km, find lha@tput power if a | 05 | L3 | COl
200 pW power is launched? ~ O
- ] & TModule-2 N &g -
Q.3 |a. Define graph velocity e velocity, wav@ction and probability | 08 LZW CcO2
b. Derive time-independent Schrodinger wa ‘htion. = & 07 | L2 | CO2
c. g;}:l:l;nhas shoﬁwave!ength, a 10 ¢ . hoton or a 10\(?; electron? | 05 | L2 | CO2
e — Cl——
Q.4 |a. State and explain Heisenberg’s un ainty principlecExplain principle of | 07 | L2 CcO2
compli arity. L&
b. Dc:iﬁ&e wave function of aparticle inside infinite potential well of width | 08 | L2 | CO2
‘a’ usifig normalization conditIon. >
¢. Cofnpute the energy owest three leyels for an electron in a square | 05 | L3 | CO2
Nofwidth3 A°._ » -
- Module =3
Q.5 |a. Whatis Block & Represent | 0> and |1> on the Bloch sphere. 08 | L2 | CO1
b. Explain probability, nonnalization(ﬁ?ﬁ._quanmm superposition. 07 | L2 | COl
c. Using twp X-gates in series, shg&fthal two not gates in series are equivalent | 05 | L2 | CO1
to a quarn wire.
) Vs 7 OR
Q.6 |a. Discuss two qubit qualﬁljﬁ‘}NOT gate or controlled NOT gate with four | 08 | L2 | CO3
different input states. <,
b. State Moore’s law. Show that S gate can be formed by connecting two | 07 | L3 | CO3
T gates in series &
¢. Find the inncr.ﬁj@a’ﬁct basis of states | 1 > and | 0 >, and draw conclusions | 05 | L3 | CO3
on the result/ N
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Module - 4
Q.7 | a. State Mathiessen's rule. Discuss variation of Fermi fact temperature | 08 | L2 | CO4
and energy.
b. Define critical ficld. Write a note on high temperature sper conductors. 07 | L1 | CO4
. In a solid, consider the energy level lying 0.01 below the fermilevel. | 05 | L3 | CO4
1 What is the probability of this level not being @d by an electron?
OR
Q8 |a. Define super conductors. Give brief ac@l‘ on BCS theory of x:y%r 08 | L2 | CO4
conductors. =)
b. What is density of states? Explain fajlureS"of classical free electron thepry. | 07 | L2 | CO4
c. Find the transition temperature of a'ff¥tal whose critical magnetie field is | 05 | L3 | CO4
5x 10" A/mat 6K and 2 x 10° 0K. AN
ule-5§ o
Q.9 | a. What are frames and fram . seconds? Explain how the Oid rule can be | 08 | L2 | CO5
applied to place the objeet insPecific frames. ~ *
b. Explain Monte-Carlo d applied to approximats e value of x. 07 | L2 | CO5 |
c. While animating a s g up car the total dista avelled over 6 frames | 05 | L2 | CO5
l 1s 25 m, calculateithetbasic distance. -
OR JQx )
Q.10 | a. Define jump ma@wification. Explain how Sca ulate jump timing. 07 | L2 | CO5
b. Explain @&1 and normal distributio their probability functions. 08| L2 | CO5
c. Then f particles emitted per second by a random radioactive source | 05 | L3 | CO5
haﬁn distribution with a ?&Calculate the probability of P(x = 0),
P( and P(x = 2). # &y
; CEE R 6&
& (’5 °
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mentary Examination,

Time: 3 hrs. , Max. Marks: 100
Note: 1. Answer any FIVE full questions, g ONE full question ﬁo&ch module.
2. M : Marks , L: Bloom’s level , C: outcomes. “~
~N
1 . M| L C
Q.1 |a. Discuss the structure of ‘C’ pro ith an example. (\ 8 | L2|cCoO1
AN
b. What are Variables? Write thdrules to declare a variable. ™ 6 | L2 CO2
| ¢ ~ !
. What are escape seq Mention the escape seqfidhees of ‘C” language | 6 | 1.2 | CO2
with their meaning.
' &
Q.2 |a. Explainan twoatput devices in detail, " 6 | L2 | CO1
b. With &ﬁple explain Input — Outpyt statements in ‘C". 6 | L2 | CO2
c. Disougs the classification of Comphters. 8 | L2 | CO1
o ¥ Module - o ]
Q.3 |a. List all decision contr@ements in ‘C’ else — if la ] LﬂCOZ
nested if with its synt example.
b. Writea ‘C’ pro ﬁ)snmulateacalcula& ing swuchstat:? 6 | L3 | CO2
c. Explain bmaﬁnﬂme statcrr@aample K 6 | L3 | CO2
0
Q4 |a. Explaugt \mfor L00p with it tax. Write a ‘C’ !bﬁram to find whethera | 8 | L3 | CO2
gwéh!iumber is prime or
h&ﬂ'erenuate while anm while loops h ample. 6 | L3 | CO2
c.” What are neste pl'? Give example. Write a “C” program to display the | 6 | L3 | CO2
pattern shown b A
> 3
N 333
& 4 4 4 4
h".; 3 85 5§58 5§
o Module - 3
Q.5 |a. Define Funct “‘ntc the syntax of a function. Explain the categories of | 10 | L2 | CO2
function w:t ples.
L
/_Q 1of2
Q
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b. Bricfly explain the storage classes supported by *C’ Ian#

10| L2 | CO2
1
OR
Q.6 | a. Differentiate pass by value end pass by ;ﬁ?g« parameter passing | § | L3 | CO3
techniques.
.
b. How 2 - dimensional arrays are dec initialized? Write (‘C 7 | L4 |CO3
program to find the transpose of a matri A
c. Define Recursion Mention the pﬁm of Recursion functfon” Write a | 8 | L4 | CO3
‘C” program to find GCD of 2 s using recursive funcffn.
=\
odule — 4
Q.7 | a. What are Strings? E ih the ‘C’ function usg&o read and write| 6 | L2 | CO3
characters. -
~
b. Write a progra»?\s find length of given string without using built in| 6 | L3 | CO2
function. l\’
A_ &
c. What is gg?nter? How pointer are decldted and initialized? Mention the | 8 | L4 | CO4
vario tions that are carried g{oﬁ pointers.
-~ A OR
Q.8 | a. Wnte a program to copy and cgnallenate from one o another. 8 | L3 | CO5
b. Explain any 6 string m‘g tion functions. v«' ‘ 6 | L3 | CO4
c¢. Write a ‘C’ program jo find sum, mean, d deviation of lelements 6 | LS | COS
In an array using/fointers. .
< Tk K
Q9 | a. What is&idn? Give its syntax, Di ntiate unio d Structures. 8 | L2 | CO4
&
b. Exp@vith an example structures and zﬂgithin structure. 6 | L2 | CO4
&rfteanote on Smc@d Functions. & 6 | L3 | CO4
\n 9 OR = B
Q.10 | a. What lsaFlle'?@ n different modesof File with example | 8| 1L2]cCos
b. Write an@Enumeraled Dq@pe. 6 | L2 | CO4
c. Writea ‘C’ program to c%ifc contents from one file to another. 6 | L4 | CO5
<
A
N L
“~
’
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SecondSemesterB.E./B.Tech.Degree Sg@gentary Examination,
June/July 2024
Introduction to Mechani¢al Engineering
Time: 3 hrs. e ax. Marks: 100
Note: 1. Answer any FIVE full questions, cx} ONE full question [mﬁﬁ module.
2. M : Marks , L: Bloom’s level , C:‘;‘ S outcomes. ~
\ ’/
[ By A ML C
Q.1 | a.  Discuss the Role of Mechanical in society. S 5§ | L2 CO1
b. | Explain the trends in mechanicAl ineering industry. ' 7 L2 CoOl
¢. | Enumerate the importanceiq{” mechanical Engineer’,.m' Manufacturing and | 8 | L2 | CO1
Automobile industry. \ 9 N |
;\' ~ l | |
T or _ _|
Q.2 | a. | Briefly explain the®auses for Global warming, ™, 5 |L2]|cCO1 |
b. | Sketch and explain/Wind mill working. ™ 7 | L2 CO1 ]
]! ¢. | Explain the comstruction of Hydel power plant with a neat sketch. 8 L2 CO1!
A -
) Module = 2 Y
Q.3 | a. | Explain the Enurling_ogeralion. \ % 5| L2/ Co2
b. | Explain the Drilling and Borin operation with suita hes. £ 7 L2 CO2
¢ | Briefly explain the following filling operation - &:«’ \\“ 8 | L2|CO2
() Plane milling ™ . ~
(i) Slotmilling N e
,“" OR ?" \\ —
Q.4 | a. | Write the advantages and applications@t, = 5 L1 CO2
.| 'b. Explain briefly the CNC configuration With a block diagram. 7 L2|CO2 |
l ' ¢. | Discuss the séps in 3D printing.ﬂ % g 8 L2|CO2
: | o O\ ~
" odule-3
Q.5 | a. | Sketéh and explain the IC Engi ¢ components, 4 L2 CO3
b. Bg;ﬂ:xp]ain 4-stroke-petrol engine. N 8 L2 CO3
c. lain the 4-stroke di¢sel engine with appropriate sketches. 8 L2|CO3
‘ il \u A
N’ OR
Q.6 | a. | List the advantages; disadvantages and applications of EV. 6 L1 CO3
I b. | Explain bricfly the components of EV with a sketch. 7 L2 CO3
[ c. | Discuss the types of EV. N, 7| L2 | CO3
N — e
. Module—4
| Q.7 | a. | Discuss the characgcr_‘gf ics and applications of Aluminium alloy. 6 | L1 | CO4
| b. | Explain the followiag Efginecring materials: 7 | L2 CO4
(1) Ceraniies.
(1)  Glass»
| ¢. | Write short 60tg on : 7 L2 CO4
(1) olymers
(ii NA ——— B —
B __.:.AL‘L—'_ - l of2
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Q.8 | a. | Explain the types of flames in Gas Welding process. Iﬁ 6 | L2 | CO4
b. | Differentiate between soldering, brazing and welding. ¢ 7| L2 | CO4
¢. | With a neat sketch, explain Arc welding process, q)-.'f 7 | L2 | CO4

Module — 5 x )

Q.9 | a. | Differentiate open loop and closed loop contréksystem. ' 6 | L2 | CO5
b. | Explain the types of automation. ) L_:‘ 7 | L2]|CO5
¢. | Explain the types of Robt configurations (any2) with sketches. ~ 7 | L2 | CO5

N ,
2 N

Q.10 | a. | Explain the characteristics of [OT! 4_':& 6 | L2 | CO5
b. | Discuss with a block diagram, the physical design of IOT. 7 | L2 | CO5
c. | Explain the types of commumication models. i 7| L2]|CO5
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Introduction to Pythoﬁ?rogrammlng
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Time: 3 hrs. QN ‘{%ax. Marks: 100

Note: 1. Answer any FIVE full quesrfonwaosmg ONE full question fro each module.
2. M : Marks, L: Bloom’s lev ourse outcomes.
< —&

le—1 AN ML C
Q.1 | a. | Explain elif, for, while statem§1 {in python with example for cach. 06 | L2 | COlL
A
b. | List and explain math o@s used in python withexarple. 06 | L2 | COIl
2 \
c. | Develop a prograrr%rcad the name and year of birth of a person. Print | 08 | L3 | CO1
whether person i r citizen or not. 4{
AL Ay,
OR

Q.2 | a. | Explain : nd global scope with:‘:{i{mple. 06| L2 | COl
& 06 | L2 | COl

b. | With an example, explain the folioang built in functh

(1) print( ) (i) input( ) . (ii) len( )

Develop a program toﬁhtc Fibonacci n%bgem' length (N)."Read N | 08 | L3 | COI

from the console. ,

&’ ™ A

.;. ¥ Modu!gﬁ'zn .N;R
Explain the folloWing list methodsw%e mple : 08 | L2 | CO2

Q3 |a. ,
1) append ’ rt ii1) sort ~
(1) appen (ﬂ)\ (i1) insert( )\ ii1) sort( ) ‘\
b. lefcreutﬂit List and dlctlona;& ~ 04 | L1 | CO2
s
c. | D lop a program usin 1onary to print Tep most frequently appearing | 08 | L3 | CO2
ord’in a text file. .« # ™,
Ay os S
OR ~
Q.4 | a. | Explain the foWg method wit xa‘fhple 08 | L2 | CO2
(1) key() ues( ) (i) ﬁbm.s( ) in dictionary
b. | Show that List are Mutable, \, 04 | L1 | CO2
AN
¢. | Develop a program to coﬁpute Mean, Variance, Standard deviation with | 08 | L3 | CO2
message. 4\
N Module - 3
Q.5 | a. | Explain the following string method with example: 08 | L1 | CO3
(1) malpha( (i1) isalnum( )  (iii) isdecimal( ) (1v) 1sspace( )
L‘N
Ve ! 1 of2
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b. | Differentiate between absolute and relative path in specify fi 04| L2 | CO3
: C
c. | Write a program to accept string and display total nu alphabet. 08| L3 | CO3
A
OR (\ *
Q.6 | a. | Explain the following method with example: 08 L2 | CO3
(1) upper( )  (ii) lower( ) (iii) is _upper( ) , (iv) i lower( ) /&
b. | Explain how to save variable with Shelve& 4\:\ 04 | L2 | CO3
¢. | Develop a program to sort the co{ﬂb: g f a text file and wr‘)tirtﬁc sorted | 08 | L2 | CO3
content into separate file.
fd'rodule 4 L
Q.7 | a. | How do you copy files a@dcrs using Shutil mod xplain in detail. | 10| L2 | CO3
b. | With suitable code, lhn' Backup a folder into a Zip files, clearly mention | 10 | L3 | CO3
steps in detail. &
Q.8 | a. | What are ns" Write the content of an assert statement. Explain then | 10 | L2 | CO3
with exa p §
b. | Explain logging module with example how fil folder can be | 10 | L2 | CO3
permanently deleted. %
5" Module-5 /
Q.9 | a. | What is a class? How tordefine class in py& ow to initiate-a lass and | 10 | L2 | CO4
how the class mcm& are accessed? -~
xS S
b. | What is polymo sm? Demonstra ymorphism with: function to find | 10 | L3 | CO4
hlstogram t count the number OWCS each letter apjﬁg’rs in a word and in
sentence ‘::k
< QU
_— & ok 7
Q.10 | a. ngqss operator overlo&@. Mention an fé’e operators with respective [ 10 [ L2 | CO4
‘@mal function to be@j’rloaded in pythoh
b. | Define pure ﬁx&t%llustratc w:th ﬂh,;xample 10| L3 | cO4
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First/Second Semester B.E./B.Tech. Degree mplementary Examination,
June/July 2

Indian Con tion

L
»
ime: . Marks: 50
Time: 1 hr.] 6\' “/fWax arks

Ay
INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questi Qch question carries o@nark.

2. Use only Black ball poi &l for writing / darkenirfg the circles.

3.  For each question, 6% selecting your anié darken the appropriate circle
corresponding ﬂw same question number on the OMR sheet.

4. Darkeningtwo%tles for the same questioh makes the answer invalid.
rwrltmg, using whiteners on the OMR sheets are strictly

1. Ultimate source of authority unjg Constltutlon l$

a) Parliament of India

¢) Judiciary ecutwe
2. The Constitution of India was adopted b nstltuent ss bvly in the year or date
a) 26-01- 195% b) 29-11- ]949 15 - 08-1& d) 09 -09- 1946

3. The basic objet&s of Indian Con@n are found in

a) Fundamental Rights b) Dir tive Pr Principles of State Policy
c) Prea;ygjg d) Fu ental Duties

4. Who was the Permanent (@ﬁm of the Constituent Assembly?
a). Méhatma Gandhi (g Jawaharlal Nehru
r. BR. Ambedkar(» ‘@ Dr. Rajendra Prasad

5. NWha:) was the lea %he Extremist group to fight against British Rule?

a) Sardar Valla atel b) Mahatma Gandhi
Subhash \ Dr. Raj P

¢) Subhas %dra Bose Q d) Dr. Rajendra Prasad
6. Government of India set of 1919 introduced a system of

a) Federal b) jarchy ¢) Democracy d) Anarchy
7.  The Cabinet mission cm to India in the year

a) 1935 & b) 1944 c) 1945 d) 1946
8. How much ti as taken by drafting Committee to draft the Indian Constitution?

a) 2 years 1] months 18 days b) 3 years 11 months 8 days

c) 2 YW months 11 days d) 1year 11 months 18 days

.g::% -Al-



9.

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

21.
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How many members were appointed for the drafting %ﬁeu of the Constitution

excluding Chairman?
c) 8 9 d 7

a) 5 b) 6

The term “Unitary’ means : *

a) Concentration of Powers vision of Powers
da Al of these

¢) Absolute Power

Which is the key to open the minds of l@akers of the Constitutj
w b) Directive Pnnmgles

a) Fundamental Rights
¢) Fundamental Duties (» d) Preamble
g &ands of people to control

they are the weapons

“Rights are not only privile
Government™, who gave th%emcm? ’
b) @N. Rao

a) Dr. Rajendra Prasadq
¢) Dr. Ambedkar d) atel
The practice of urd%;?lablhly is prohibited under
a) Article 14 b) Article 15 Article 16 d) Article 17
Right to Lﬁ ?der Art. 21 does not inclu
a) Rig ucation “  b) Right to Dignity
d) Right to lihood

¢) Right to”Suicide

Reasonable restrictions can be imposed by the Sta
a) Art. 19 (1) (a) to (g) é{ (2) to (6)

c) Art. 20 (a) to (c)

Fundamental Rights upder Part — III can ected by
a) Supreme Co ) Parliamen
¢) Union Chi ecutive N’ d) Attorn eneral of India
‘Writ of Mandamers’ cannot be iss&against : ’
a) Sta vernment w b) :;gﬁent of India
c) P Minister of Indi d) ic Servant
o), 3 o
oduced beforg«% Magistrate or Court within :
d) 48 hours

arfested person is t
One month b) 3 month Qc 24 hours

No Person is to

available und \ :
a) 19 ‘ﬁﬁ/ b) 20 ‘;:r. c) 21 d) 22

What is the meaning of “Habe§ Corpug”?
a) You may have the b@? k) To do a duty
d) None of these

¢) On what Authority@y

“Right to Press” ( ws’media) is included under :
a) Rightto Freg@ of Speech and expression

b) Right to Afsembly
d) Right to move

c) Righ%tmdc
Q A2

& nished twic for the same offence “is The Fundamental Right

¢
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23.

24,

ZSQ

26.

27.

28.

29,

30.

31.

32.

33.

34.

BICOK107/207

Right to Minorities are guaranteed under Articles :

a) 14t 16 b) 21t024 c) Arts. 29 d) 17and I8
The Directive principles of State Policy are : \’

a) Enforceable by Court b) Not rceable by Court

¢) Only a direction to State Government  d) & of these

Which provision of the Constitution recogpizes (hcmauonal Law?

a) Art. 39 b) Art. 48 Art. 51 :\&An. 44
DPSP (Part - IV) directs the State t c& to all workers : ~ .

a) Minimum wages b) Living ¢) Standard wages # d) Fair wages

Who is having the duty to se children to School? ﬁs
a) State b) Patelty Guardian c) Zilla Pagc yat  d) None of these

’
Which Article enume ndamental duties?
a) Art. 41 rt. 51 c) A d) Art. 52

How many me ¢ nominated to Rajyag abha by the President?
a) Two b) One Twelve d) Eight

i thc money bill immechately after introducing in Lok Sabha?

inister  b) Speaker c) Finance&ister d) Any one

Who can dissolve Lok Sabha? “=%

a) Prime Minister b) Speaker c) Pa@t dY Vice - President

Who can pass an Ordin in the State Govemnwht‘?
a) Governor b) hief Minister (b Paw Minister , d) Speaker

Who can appomMﬁ&.Chlef Justice of re e Court? ;§ Y
a) Prime Mm b) Law Mi ¢) Vice-P nt  d) President

What is the minimum age to me ;?ne member}ﬁislative Assembly?

a) 21y, b) 2 S d) 35 years

Special provisions are %Qar ¢

Backward classes Women & Children

@Q&Semor szeng @d) Both ‘a’ and ‘b’

35.

36.

37.

38.

How many kinds mergencies :N(orporated in the Constitution?

a) 5 Types 7 b) 4Type c) 3 Types d) 2 Types
~

Who is to a’mn the advice of tp %ouncﬂ of Ministers?

a) Prime Minister b)) Rgesident ¢) Vice - President d) Governor

The President cannot iﬁvmhe proclamation of emergency after 1978 for the reason :

a) Internal disturbange b) Terrorism inside India

c) Armed rebeui& d) Covid like Epidemic discases

Who can recomend for the declaration of State emergency?

a) C hi%iﬁister b) Governor ¢) State Cabinet d) None of these
Q-:u -A3-
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40.

41.

42.

43,

47.

48.

49.

BICOK107/207

&

Which are the Articles not to be suspended during Nati a%nergency?
a) Arts. 14t0 16 b) Anrts. 19and 22 «¢) Ars ggnl I d) Arts. 29 to 30

Who appoints the Chief Election Commissioner ﬁdia?
a) President ¢ Minister
¢) Chief Justice of India

d)
. _
How many members are there in the El@ommission at presﬁ’«
«d) Three

abinet

a) Seven b) Five ¢) Four
. - = . ’

There IS no provision in the Indiamnstitulion for the impeaéhment of :
a) Pre:srdcnt b) Chief Jus&é‘o Supreme Court
¢) Chief Election Commissi d) Governor

_ - ¢ ’
Election Commission d@ol conduct Election to {Q,
a) President ice - President  c¢) S@(er d) MPS

¢

Who can amen t%ovisions of the Constitutién?
a) Parhamenl' b) Cabinet é President d) State Legislative
The Ame t procedure laid down in the Indian Constitution under the Article :
a) Ar b) Art. 36% c) Art. 368 d) Art. 378

Which ofe of the following An‘l&ments decreased ge of voting from 21 years to

18 years. ’
a) 44™ Amendment wmendmem c)és‘%(mendment ngnd Amendinent

By which Amendment™the Fundamenta.lﬁtﬁes of Citizens' was included in the

Constitution of India? ¢ (‘b
a) 44" b) 38" s C) 417 éﬂ d) 42

Who has been made responsible fo@e and fair Elections in the Country?

a) Presigent” b) Chiéf Justice of Supreme Court
¢) Pri inister % d) f'Election Commissioner
The duration of State e %cy in the first ipstance is
‘Q&One month l%vo months 3 months d) Six months
\ Y o
SMe concept of Ejectioh is based on __hb
a) Federalism b) Seculari_s’& ¥ ¢) Socialism d) Democracy
0 “5};@, R R
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